log [AL ] Infeldschwellen

23 [0 =V (L /9 1-stsL/Lgn-1] [1]

n=-0,25 2]
V = 1/(0,0361L;039 €l
14|L=0,025. 9705 4]
s = U[1+(n v LDV 5

L, = 0.1; 1; 10; 100; 1000 cdPn [6]

Umfeld-
Leuchtdichte
Ly/[cdim?

L /AL Infeldschwellen-Kontrast

V(Ls/9M I-stsL/LY"-1] [1]

n=-025 2]
30|V = 1/(0,0361 L;0:39) [3]
Ls = 0,025,070 {4
25T |s = 1/[1+(n V L)V (5]

1; 1; 10; 100; 1000 cdn [6]

LU

20

S

0
15 Umfeld-Leuchtdichte /
Ly/fedim?]
-1 10
5
-2
Infeldleucmdlchle L/[cd/m?] 0 - Infe\dleuchldlchle L/[cd/m2]
0,001 0,01 0,1 10 1000 10000 0,001 0,01 01 0 1000 10000
-3 2 =il 0 1 2 3 4 -3 =2 =il 0 2 3 4
=3 log L/[cd/m2] =——> log L/[cd/m2]
CGA40-1A CGA40-2A
log [L /AL] Infeldschwellenkontrast L* Infeldhelligkeit
2 Umfeld-Leuchtdichte L /[cd/m?] .
1254 [ =V (L /9 T-stsL/LYm -1 [1] ot
n=-025 2] S
v = 1/(0,0361 L7039 3] RO L
1 100 = 0,029,905 [ 1560 .
. s = 1/[1+(n V LHVAN)] [s] . @ ="
. - B
. : 751 |L, = 0.1; 1; 10; 100; 1000 cdfn [6] RS '
.
=V (L Is)”[l stsL/L9n 1] [1] :
n=-0,25 2] 501 Umfeld-Leuchtdichte H
=1 v = 1/(0,0361 ;039 3] L/[cd/im? H
u [4] 254 g
s = 1/[1+(n V LHVAM] 151 0,1, :
- L, =0,1; 1; 10; 100; 1000 cdAn [6] 4 :
- [ SN -0 '
Infeldleucmdlchle L/[cd/m2] Infe\dleuchldlchle L/[cd/mz]
0,c01 0 100 1000 10000 0,001 0,01 0,1 1 10
-3 2 =il 0 1 2 3 4 -3 =2 =il 0 2 3 4
=——> log L/[cd/m?] =3 log L/[cd/m?2]
CGA40-3A CGA40-4A

CGA40-3N




